Name of the Trade - Electrician 1st sem - NSQF - Module 1 - Safety practice and Hand tools

L1020

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|What is the name of the safety sign? Warning sign Mandatory sign Prohibition sign Information sign |39 YR&T T8 T TH T g2 ECICEIERS I D g HuY® g YITHSD I8 D 1
2|What is smothering in extinguishing of |  Adding the fuel Removing the fuel | Using of water to Isolating the fire [ 3T &1 YAF T 5?2 S H S THAMT | 31 I U 31T SIS b1 ST 3 DI ST D 1

fire? element to the fire |element from the fire lower the from the supply of HHAT PP AUAA HH | DI Gﬁ{iﬁ@f ST
temperature oxygen DAl HRAT
3|Which is the physical hazard? Smoking Vibration Corrosive Radio active 9 | 9 YIlded gli+ A1 5?2 Ygu= T &R0 ISl Jihad B 2
4|Which is the correct sequence of Pull, Aim, Squeeze, | Pull, Aim, Sweep, Push, Arrange, Push, Arrange, [[F9 | T 3 AU B SUTNT HA Dl Yol hH R 57 Wi, R i1, TR Yehol, A | Yhadl, AdRId A 2
operation to be performed when using Sweep Squeeze Squeeze, Sweep Sweep, Sequence ST, <dTHT, YHTHT | T, YHET, dTHT | 6T, q&lHT, YHTAT PRATL GHTT,
the fire extinguisher? SghH
5|Which step of the 5s-concept refers Step -1 Step - 2 Step - 3 Step - 4 5s-Hdedl H 199 H ¥ S 91 oRUI “Standardization” TYH RO fedia =_ur GREERY ERRERY D 1
“Standardization”? cal SRSl %?
6|Which plier is used for making wire Flat nose plier Long nose plier Round nose plier | Diagonal cutting [P ¥ WIRIR &I SUANT dR & gob R U I H IdT | TRiC Al WRR AR A WRR A3 A WRR ST hicT C 2
hooks and loops? plier . ? . AR
7|What is the use of pincer? Twisting the flexible Cutting small Extracting the pin Holding small  [TURR &1 RIT SUAITT 57 IR R Bl | Blc A D AR |Tbgl H U U quT | BIcl ¥ Tbs I, C 2
wires diameter of wires | nails from the wood objects, where @E PRAT PlcHl CANARCANKI] ERERIE Ugd
finger cannot reach b
8|What is the name of road safety sign? Mandatory sign Cautionary sign Informatory sign Prohibition sign |3 TSP JR& <5 b1 T AH 5?2 TGP I8 SEREAERT JIATHS T8 YYD 5 A 1
g
9|What is the back ground colour of Blue White Yellow Green Hd 40l H I <8 o U HIT DI T T Idl 6?2 BIN] oqd CIGl] I C 1
warning signs in the basic category?
10|Which type of fire extinguisher is used Halon type Foam type Gas cartridge type | Stored pressure [[dggd SUDHRUI H TN 311 B DI T URTHD YIN] SIGEEAN EREPEaN T PRI UPR | FUGd IAUDR | A 2
for fire on electrical equipment? type [ERIRIGI] %?
11|Which is the waste disposal method Recycling Composting Incineration Waste compaction |3URIF [MUCH {8 I Il ©, Sl THI UG DRl 57?2 EEEEL] Te SIa YWD SUIRIT g C 2
that produces heat?
12|Which Personal Protective Equipment Apron Goggles Ear mask Nose mask quy $&n & ToTU Tob g TaTd YRE&T SUBRUI (UUIR) EEE] EEL] CaEELE] Ak had D 2
(PPE) is used for the protection from Eal foar Stra %?
fumes?
13(What is the full form of BIS? Board of Indian Bureau of Indian Board of Bureau of BIS &1 JUI U § Board of Indian Bureau of Indian Board of Bureau of B 1
Standard Standard International International Standard Standard International International
Standard Standard Standard Standard
14{Which method is used to lift and move Winches Crane and slings | Layers and Rollers | Machine moving |HRI HR 33 3R R[HIdIRd DA & [T b Ugid fa= e 3R R TR 3R e ORI dTierd B 2
heavy loads? platforms BT IUTNT fwa ST g2 WewH
15|What is starving in extinguishing of Adding fuel to the fire | Using water to cool Removing fuel Preventing oxygen |31 4 H WA &1 57 A Y 34 THAMT | 3 I U 3] ST 1 SUTR] 3 B Ao C 2
fire? the fire element from the fire| supply to the fire AT PR AOHF ST | DT TfT I AT
DAl hAT
16|What is the name of PPE? Nose mask Head shield Face shield Hand screen PCEEIE IR i Had IR BT Had g Hl hdd I ThIH D 1




calls

calls

to calls

[ 17|Which disposal method of waste save Land fill Recycling Incineration Composting SOTRIY UeH 1318 19 i 8, S 9gd ARI SHoll §d1dl | STHA H HRAT qdsh Ul HIHATBROT "l ST

lot of energy? g7

18|Which artificial respiriation method is Schafer’s method Mouth to mouth Mouth to nose Nelson’s arm-lift [T THR B PIAH 44 191 BT JAM 39 Uiled & IR [aTe g ¥ Hg faiY e U AP AT |7 Bl Yol SR
to be performed to the victim with method method back pressure fom GG % ! Bt IR e H A B'T? Ui gara fafdr
injuries on the chest and belly? method

19|Which type of occupational health Electrical hazard Biological hazard |Physiological hazard| Psychological  |[{5Y UPR & TGS WA WdX b HRUI YhHUI [dggdig JHa Sifde Jh A RRIRND G=T HHRIS Jhd™
hazard is cause for infection? hazard g ghar %?

20|What is the use of this tool? Holding the hot | Cutting and twisting |[Extracting nails from | Looseningand |39 3SR &1 T SUWINT 572 T U1 bl JhS1| dRI &l BleA1 3R | Adbs! J Did dlec 3R ¢ Bl

substances the wires the wood tightening the bolts Iﬁ?s':ﬂ IBEANKIl el HRAT 3R
ﬂ’ and nuts CsEll
9 e

21|How will you diagonise the victim is Gets pain in spinal |Mouth will be closed | Heavy swelling on |Appears blue colour [[dd & TR ¥ Ulisd Hiad Pl 3T &4 T2 RIGPITEIHGG ¥ | HE RI ARG IG 8l | UTH 31D o | TIdl &b dRI 3R
suffering under cardiac arrest? guard tightly his stomach around his lips SR Hrar &

22|What is the name of the tool? Wire stripper Crimping tool Combination pliers | Diagonal cutting |39 3SR &1 T AH 57 TR RER fopTHLT ¢t DA WRR | SRS i

pliers IR

23|What is the name of the safety sign? Warning sign Mandatory sign Prohibition sign Information sign [ JR&M T8 &1 7TH T 82 ERICEIREES 3TaTD g [EECCAEE YITHD g

24|What will be first-aid to be given to Applying ointment | Keep the injured | Covering the wound | Applying pressure [UliSd @ Iad & §gId Bl AP+ & (1T R MYTHD HdgH I Flc T GUHF D] | I T GUHF &I | T R g¢ HFTWR
stop the bleeding of the victim? portion upward portion by dressing over the injured fafba Iudsy Eh_\"l'scx_rl'ﬁﬁ %? HURXGAT 31%1169—{——11 adld ST

portion

25|What immediate action should be Pull or push him from Inform your Call someone for | Break the contact [Ullsd &I §dT- &g HT ABIAD HGH IS ANeY, ERIERECER 30 UNYDRI bl I 3 Aldd | JAID] Bl AT
taken to rescue the victim, if he is still | the contact by hand | authority about this | helping to remove by switching OFF Tfe ag ot oft ﬁﬂ'ﬂﬂﬁﬂ%{ a9 guds o %? DT ¢ 4 %?a? %_‘@Iﬁ Pl LS A %‘g! ENIY TR 321% &I'I'Eﬁ
in contact with the electrical power electric shock him from contact the power supply EIECARE DI &g PG
supply?

26|What is the name of the cautionary School Guarded Unguarded Pedestrian crossing |39 9dd [<i-g Pl ATH R 5?2 faee TRI&T R NER] Uad I
sign? )

27|Which is the golden hour for the First 15 minutes First 30 minutes First 45 minutes First 60 minutes  [T1g Ull$d &I RR H @I o1l  3fR 98 "R 61 o, dl Ugd 15 fHHe Ugd 30 [HHC Ugd 45 THHe TUgd 60 [HHC
victim injured on head with risk of I fore Wity ger o 9182
dying?

28|Which condition of the victim is Unconscious but can |  Conscious but Breathing but Lie totally senseless [Ullgd @1 I i IRITd I DHIHT DHgl Sl 572 IERIBATR YA [ BRHABAIR | I AT R %;1_}'1 R Ao
referred as COMA stage? respond to calls cannot respond to | cannot respond to |and do not respond TR IW &l @T’Iﬁﬂ? SWAC| WIWA Tc el ¢d

A TR IR A AT




Name of the Trade - Electrician 1 st sem - NSQF - Module 2 - Basic Workshop Practice (Allied trade)

Question OPTA OPTB OPTC OPT D Question OPT A OPTB OPTC OPTD Ans Levels
1{What is the use of this gauge? Check the internal | Check the diameter | Check the height Set the job on Y TSl b1 T TN 52 SITd 1 STARD Bodl | STHIPR i o1 A S PSR AR [AEHIAIAIASCHSD [ A 2
radius of the job of cylindrical job | and parallism of job |machines parallel to CARSIER] SIESI HHTART ST AR XG-T
datum
i
3
2|What is the name of the file? Rasp cut file Single cut file Double cut file Curved cut file S Ydl BT R/ A 57?2 I He Wdl Thd e Xdl GIg| e Xdl TDIDR e dl A 1
3|What is the name of the tool? Divider Inside caliper Odd leg caliper Outside caliper 3 ISR &l 1 4 57?2 ISCIEERN 3{TARD DhelluR fauH T SR el AR B 1
g
4|What is the cause for twisting defect Defective storage | Uneven shrinkage | Improper seasoning Irregularity in b sl H IgRET GIY BT HT HRUT 5?2 GIYYUl HUSRRU] STHAM AP ST TAd AT RATHT Dl gl H B 2
in timber? growth of branches S afirdan
5|What is the use of mortise chisel? General chiseling | Making rectangular |Paring and finishing |  Light chiseling AlCIgYl B+l ol T SUTIT 57 TAbsl H IHN THSI H AR BG | Ahol DI DA Td | ADhgl H Ged] S0 | B 2
work in wood holes in wood joints in wood cleaning sharp SR HAT PRAT =T g HW%@WH}WW
corners and in wood
6|Which type of stake is used for sharp Square stake Hatchet stake Blow horn stake | Bevel edge square | Rilc Hed H do AlS| og 1™ UDR TNHR T h gdc XD il g b d9d U9l QNP R L b B 2
bends in sheet metal? stake HT WS SYINT [T o1l 52
7|Which type of cold chisel is used for Web chisel Cross cut chisel Half round chisel Diamond point T4 JHR D 581 Bl BT IUIM ENIEE] I Be Bl 31 FATBR Bl HREIEEEE]] D 2
squaring materials at the corners? chisel Wwwﬁﬁmaﬂﬁﬁg
o ST 82
8[Which type of caliper is used to draw Inside caliper Jenny caliper Outside caliper | Spring joint caliper [Thd UHR & HelluR BT TIRT UGl & 3{TARD DR SHI haldR el HAR ISUEEELIEN B 2
parallel lines along the outer edges of mﬂﬁﬂwwm@aﬁﬁ
the materials? BId 82
9|What is the name of the drill bit? Flat drill bit Taper shank bit Countersink bit Straight shank bit 39 Igd I9¢ &1 1 TH 82 Tie Tgd e TR TSP [9¢ CARTNDCA T e P e B 1
H
H
10|What is the name of the stake used Square stake Hatchet stake Blow horn square | Bevel edge square | Rlic Hed H IR YA &g [l THR Lh TIAC KD =1 g Kb 99d TS ANDR T h A 1
for general purpose in sheet metal stake stake UYHR BT Wb ITUNT fobaT ST 32
work?
11|What is the number 1.25 indicates in Diametric of the | Pitch of the thread | Depth of the thread |Length of the thread | STRTHSAI HIgH IS US M12 X IS BT AN US 1 Ud US Dl TTeRT% IS DI TR B 1
ISO metric fine thread M12 x 1.25? thread 1.25 ¥ 1.25 FaR 1 3G FRAT 82
12|What defect will occur in timber due to Knot Cupping Cracking Twisting Tbol H TG U I RAT3M] & e DHIUT ECCEll AT A 3
irregularity in growth of the branches? wﬁ%waﬁ%maﬁwm
?
13[Which file is used for sharpening the Square file Round file Triangular file Half round file | Tdb 2= 3Rl & &g Gldl Bl ool bR TNBR Idl JAIPR dl BAYSIT®R Xdt 3¢ AR dl C 2
blunt teeth of a tenon saw? %mmﬁﬂwmw




14|Name the part marked ‘X’ of the file. Edge Heel Tang Shoulder "X" F SId Yl b HFT BT A1 ddigu- E] Bid < TSR
%
15|What is the name of the tool? Jenny caliper Inside caliper Outside caliper Firm joint caliper Y 3{ISIR &1 T -H 5?2 Sl HATR 3{TAR® HATR EIFEZIEN TH il hAlR
oo
8
:
16|What is the name of the angle marked Rake angle Point angle Clearence angle Inclination angle | &1 H "X" §RT UGIRIA BI0T DT AH I DI CIEEEAL] ESErSEa EGackapl
X’ of the chisel? 782
g
17|What is the use of firmer chisel? Paring and finishing | General chiseling | Making rectangular | Light chiseling and THHR Bl DT R YA 572 Bl 3R SIS] Bl T BHIERV PR | Ahgl H AAADR BG | ADhgl H Geb] BB
joints work holes in wood to clean sharp R H CEIGII azn?ﬁrmﬁmﬁré
corner
18|Which type of half lap joint is used if End-lap input Cross-lap joint Middle-lap joint | Corner-half lap joint | {h¥ UHR BT 31t U SIS YART [ ] Ts-Ay il HIg-Ay ollg -y Sl HHI-3{Y AU Sg
one part of a job meets another part Gﬂ(ﬂ% q Si1d BT TP HFT RRI &
at some distance from the ends? &H@f%@ﬁﬁﬁﬁ'{%’?
19|Which type of notch is used for “V' notch Slant notch Square notch Straight notch {90 ° AIS 31X 3cx ¥ Mhdl g [hAR YEIE] faReT A= PR A4 BIEIEIE]
making a metal tray with 90° bend %mngrrg%;aqﬁ%ﬁmmw
and an inside flange? & Ara BT IGANT faa T g2
20|What is the purpose of hem folding in | Helps for forming a | Helps for bending Prevents burrs Prevents the sheet | RITC Hcd ® H &8 HllcsT ST RN |TNDHR [Sed Bl g H | RMC Ted Pl el o Pl & §1G TGIGT it &1 &ffd 9 =M1
sheet metal work? square box sheet metal easily | forming after cutting from damage B%QZI %”? qgldd Iﬁ?ﬁf | RNEEED fPIR 999 9 Apar %
21|Which defect in the timber is caused Twisting Cupping Cracking Irregularity Ab ol H DI AT G 3UDB]! AT bl AT DI TChI ST
to reduce its strength? HH BT ]2
22|What is the name of the hammer? Claw hammer Ball pein hammer | Cross pein hammer Straight pein 39 UTS BT AT ATH 572 AT gUTST EEEERERIE %I UM gUTSl e U gYlsT
) hammer
%
23|Which defect in timber is caused due Knot Twisting Cracking Cupping TTeld AT o BRUI Ab Sl H DI S AT EECE] BT
to improper seasoning? maﬁmaﬁm%? . -
24|What is the name of the formation of Hemp Full form thread |Tapered male thread| Parallel female STl R U1 9Ig H'X' & U H Sc Hd BH S SIEIESRS AR BHd IS
thread marked as ‘X’ in the galvanized thread ﬁﬂ%ﬁ US & Bl 7 AT %?
sheet pipe joint?
g
25|Which type of notch is used for V' notch Slant notch Square notch Straight notch RIC & RRT DI HISH &g 0¥ THR YEIE] SEEIEIE] TBR A BIOEIE]
bending the edge of the sheet? ECTWWWWGHHT%?
26|What is the purpose of cross cut cold Cutting keyways Cutting curved Squaring materials | Removing metal g PHC ol Bl bl T Ie 872 Didl dblcd § TBIBR ATl Bl I B DI R ESEISESEREER
chisel? grooves at corners from large flat PHR HA A IBEAKI]
surface i
27|Which type of notch is used to make a ‘V’ notch Slant notch Square notch Straight notch VAIE IGEEIGIE] PR A4 RITIEIE]

job with 90° bend?

90° ATe- 5 [ UBHR &1 A1 TN
B 82




28|Which type of curve cutting hand saw Compass saw Key hole saw Coping saw Fret saw DSl bl SMdIRD HIcd P (Al [hd S 3RT &I gl 3RT DI IHRT e 3RI
is used for internal cutting in wood? UHR HI ab Hic E%Fﬁ Y TART Bt
STl 87
29|What is the name of the stake used Square stake Hatchet stake Blow-horn stake | Bevel-edge square | RIic Hcd &R o [elT SUINT 51 dlal DR Kb gdc X 1 g X h 990 TSl TDPR Kb
for sheet metal work? stake XH B |1 %?
!
30|What is the name of tool? Claw hammer Tack hammer Cross pein hammer Straight pein 3SR &1 |1 919 82 ESIRRIE] cag gdlar oY U9 gdtel ¥c U gdlsT
hammer
i
31|Which type of chisel is used for Flat chisel Web chisel Cross cut chisel Diamond point | TSIl & §TG YTl I 3T HA EEEEE] SRIGR @41 g B Bl BRI UlgC oAl
separating metals after chain drilling? chisel %‘g[ Wﬁ@%ﬁwmm
SIdl 8?2
32|Which type of stake is used for Square stake Hatchet stake Blow horn stake [Bevel edged square | T UBR ®I TP BT JUIRT CIUT TMDPR Kb gdc X Il g1 Kb §9d TSl DR T h
riveting or seaming tapered cone stake % THR & ol dI Raferar
shaped articles? A D ﬁ*ﬂ;’ o STrar %’?
33|Which cause knot defect in timbers? Defective storage | Uneven shrinkage | Growth of branches | Improper seasoning| <®e! 8 TS GlY &l oI HRUI 57 GIyqul HUSRUT SRFH s RATSAT Dl gieg SCESISIGE




Name of the Trade - Electrician 1st Sem - NSQF - Module 3 - Wires, Joints - Soldering - U.G. Cables

Question OPTA OPT B OPTC OPTD Question OPTA OPT B OPTC OPTD Ans Levels
1{What is the current carrying capacity of 32 13 Amp 16 Amp 26 Amp 39 Amp 32 TRRR IS Hhad $UT YRT dg- &HdT I 13 Amp 16 Amp 26 Amp 39 Amp C 2
amp.rated cable, if it is protected by the EﬁTﬁ gfe S Y dR e Iy RS I
rewirable fuse? ‘{R’f\&lﬁ fosar 63f?
2|What is the possible range to measure the 0-44 0-42 0-38 0-36 SWG ¥ dR &1 PR HIUA DI IRY T 572 0-44 0-42 0-38 0-36 D 1
size of the wire in a Standard Wire Gauge
(SWG)?
3|What is the name of the wire joint? Aerial tap joint Knotted tap joint Duplex cross tap | Double cross tap [ dR Sils &l T A 57 TRUA ¢U il dics cU Sig Bk ERE G E S G 1
joint joint EIE)
i
E]
4|Which type of soldering flux is used for Rosin Zinc chloride Sal ammonia Hydrochloric acid [TTed-iigbd g & TeTT [hd UbR b TSR NIEE] EISIESINES T AT |BTeglddN® 3| D 2
soldering galvanised iron? T ol T ST 82
5]Which method of soldering is used for Dip soldering Soldering with a Soldering with Soldering with  [AET TG 3R 71 S gg 19 Al RIS ATl & 1Y SiEEEREEREEED A 2
quantity production and for tinning work? flame soldering iron soldering gun ISRy WWWWW%’? NI Ra 1Y qY
6|What is the name of the part marked as ‘X’ in Bedding Armouring Lead sheath Paper insulation |38 HATd ad H 'X' A SRId HIT BT AH Citsg STHIRAT ERiIN BT T A 1
the under ground (UG) cable? ERIEY!
§
i
7|What is the full form of “XLPE’ Cable? Cross Line Poly X'ess Line Phase Cross Linked Poly Excess Length XLPE' WU;UTFC[%' Cross Line Poly [ X’ess Line Phase Cross Linked Excess Length C 1
Ethylene Earthing Ethylene Paper and Ebonite Ethylene Earthing Poly Ethylene Paper and
Ebonite
8|What is the purpose of ‘serving’ layer in Protect the cable Protect the cable Protect metallic Protect armouring |4 ad H A9 IRd BT RTITANT 5?2 | PIAd Bl AHI A [hdd Bl AlAD &id | UTicdd Hdd Bl STHIT I D 2
underground cable? from moisture from mechanical sheath against from atmospheric CEIEI BRI &RUT I ST
injury corrosion condition J T
9(Which type of fault of U.G Cable can be Ground fault Short circuit fault | Open circuit fault | Weak insulation [0 2% H H[HId ®ad & ¥ PR b Gl Yo Y URTY gy AT IRYY GV | HHWR Parcsd B 3
located by this loop test? fault & Y DI 1d a1 o bl 872 Y
2 R
?
: f
H
10|Which cable laying method is used in In ducts Racks in air Along buildings Direct in ground | 3ddIa- 9471 8 1Y UPR Bl hadl 98 Tac | BATH D Haq & Ay Y SHE H B 2
generating station? ﬁﬁfﬁﬁmmw%?
11{How many electrons are there in the valence 1 2 8 18 19 & IRATY & A Iob J T gaiag 1 2 8 18 A 1
shell of a copper atom? Eﬁ%”
12|What is the effect of electric current on neon Heating effect Magnetic effect Chemical effect |Gas ionization effect|31a <4 H fdggd YRT BT YHTd HIT hgardl S UHTd THIDIG UHTd RS YU | T IR0l D 2
lamp? 87 Tyrq
13|What is the unit of insulation resistance? Ohm Kilo ohm Milli ohm Mega ohm PATAD YIRIY DI B3 6- 3T ENIEIR] IERIEIE] HITT 3T D 1
14{Which electrical device is the coarse excess Cartridge fuses Rewirable fuses Miniature Circuit High Repturing [T AT 19Ggd SUDBRT I IR URT Hllcol Tl TF: AR Y I | HATR Hicve | 8Tz IR &HT B 2
current protection? Breaker (MCB) Capacity (HRC) |9R&TUI 72 WS ECa RS

Fuses




15|Which type of joint is used for extending the Scarfed joint Aerial tap joint Britannia “T” joint | Western Union joint [[RRTAR @1 § 91 D1 AHITE Il &g TDIhS Sl TRTA U Sl fSer==an T S8 | 9% g Sl
length of conductor in over head lines? MW$@3WWG1%%?
16|Which type of soldering flux is used for Tallow Ker-al-lite Zinc chloride Sal ammonia rosin |TcGHIIH TTeIDh! Bl JISR D o 1Y cal DHR-3(d-dISC SISIESIRES B IGECIEE]
soldering aluminum conductors? %@Ra?ﬁ SRR R ARSI A GRS | AfH
2
17|What is the effect on molten solder due to Tin content reduced |  Lead content Prevent slug Uneven flowing in  [T09d U UIteR @l SR-IR WA U AT [ [CABTURT HAG! |G STURI AT | TR DI STIH | ST R AN
repeated melting? reduced formation joints THTG TSl 62 ST ® ST § A% AT CRES
18|What will happen to PVC insulation in cable Voltage drop Voltage drop Insulation Insulation ®hed B PVC AT &l 1 R, Tl e UId d'M | dleesl QMU | Pamdd oY | paTasd Uiy
carries excess current continuously for long increases decreases resistance increases resistance RIS YRT T THT T dgd! 8? a% 1 e
period? decreases
19|Which method of cable laying is suitable for Racks in air Duct pipes Along buildings Direct in ground  |[had IS @i DI i 1d1e b [0l &A1 B BAIH D Sde UIgy Yol & 91y iy S H
congested areas? SUgad 82
20|What is the name of the part marked ‘X’ in Serving Bedding Armouring Lead sheath |39 HHITd dad H 'X' W SId HFT BT AH giaT STS S{THIT REEID]
UG cables? qdigy|
:
21|What is the fault of U.G cable identified in the Ground fault Short circuit fault | Open circuit fault | Weak insulation  [H[*RTd edl & [bd YbR D GI¥ bl 3T o Y URUY & AT URUY TN | HHVIR HaTcdd
circuit? fault foa 1 wavdn 82 Y
22|Which part of the underground cable is Serving Bedding Armouring Lead sheath T e H I T HIT YT had ol Jqiqa SrST S{THRT RERID]
protecting the metallic sheath against &RUT I ST %‘?
corrosion?
23|Why the soldering iron must be kept into a It prevents burns and To control the To save the time of To save the ISR R BT JUIM 7 B & 7 g 9 U4 3 | SMARNTd HEAT I | WSRITUHII BT | D Bl
stand that not in use while soldering? fire excessive heat soldering process operator from W o ot T& 1 =nfee? ARG ﬁﬂﬁﬁﬂe{%ﬂ Wﬁﬁ%ﬂ ﬁiag?r?az%ﬁﬁ
electric shock Eﬁl’lﬁ%ﬂ
24|Which type of wire joint is found in the Aerial tap joint Plain tap joint Rat tail joint Married joint  [SIaRIT ST H ¥ THR & dRI & SIS Ul TRUA ¢U il BRSNS Y ca vls ks wls
junction box? EIck
25|What is the name of the joint? Married joint Scarfed joint Western union joint | Britannia straight |39 Siig &1 T TH 5?2 aRks Sis ITDhS Sl R g Sle | Tser=-an T Sk
joint
26|What is the use of Britannia ‘T’ joint ? Extending the length | Inside and outside | Mechanical stress |Tapping the service |TSieT=al T' SIS &1 1 IUANT 52 AT DI TS B | 3MARD AR | D WAAD | RRIRI AT
of the lines wiring installation not required on connection from eI IR RITUT HRAT| 19 3TaRaS el | qdT ;_rlﬁz j %ﬂ
conductor overhead lines :
27|Which type of soldering method is used for Dip soldering Soldering with a Soldering with Soldering with a  [TTARIT AR RUART BRI & oMY Thd UhR TSU e SO DAY (ISR TH & 1Y | IR HTRA
servicing and repairing work? flame soldering gun soldering iron P @I ﬁﬁmaﬁaﬁr%? AT AT & Y
28|What is the use of dipsoldering method? Soft soldering Piping and cable | Soldering miniature | Soldering sensitive [[SU Alce T Ay &1 START AT 52 EEESISIRS TSI SR Haa US| BIc UM | HaeRITd Tdgdd
soldering work  |components on PCB| electric components qeiTar  |# Qehar U BT Wi
29[Name the part marked ‘X’ of belted U.G cable. Jute filling Armouring Lead sheath Paper insulation [decs HHTd ped H'X' A SRIA HIT DI AMH | JeH BISICN STHRA s WY BRTY PAAD

ELnzata

ERIEY




30(Which insultaing material is used as hot Polyamine hardener Cast resin Bituminous Epoxy cast resin |1 &I Tard YT e H T Ticll 3HH BT8R | PRE A ANID | [Sgg dqlie | TUI pRe
pouring compound for making joints in under compound compound compound ER%’S‘IETG‘I?IT%? IR s
ground cable?

31|What is the purpose of bedding insulation of Protect the cable Protect the cable | Protect armouring | Protect the metallic |H[FTd Bad H dlST &1 HT 35T 87 Dhad &l YliAD &id | Dhad bl TH Td SHTHIT 1 YTiedp had bl
U.G. cable? from mechanical from moisture and from atmospheric sheath against REEIE]] TG I S RO §IHT

injury gases condition corrosion EEEIR

32|Which test is conducted to locate the faults in Loop test External growler test | Break down voltage Insulation HIFT I P [bg YbR & ¥ Bl J1d Jqu e TRI AR ¢ | 5 SIS dleesl | HaTdd UlRIY
U.G. cables? test resistance test ({1 ST Tavell %? T T

33|What does the number 1.40 represent if a Area of cross section Radius of one Diameter of all Diameter of each [did ?gq TTAD Bl 7/1.40 I 1T Tha SJUR BIC DT | TP TP Dl HAodl | JHI ATADI b1 | UdD AT Pl
stranded conductor is designated as 7/1.407? conductor conductor conductor Sldl &, dl 1.40 T qRIId %? RELI A 2R3

34|{What is the value of electrical conductivity of 61 mho/m 56 mho/m 35 mho/m 28 mho/m TGHITTIH TP Dl TTehdl Bl T A 87?2 61 mho/m 56 mho/m 35 mho/m 28 mho/m
aluminium conductor?

35|What is the rating factor of cable provided 1.11 1.23 0.81 0.707 had Dl HeD SMfdRad YRT JR&M & T 1.11 1.23 0.81 0.707
with coarse excess current protection? YRT e WW%’?

36(What is the size of neutral conductor Same size of phase | Half size of phase | 1/4 size of phase | 1/3 size of phase |HFTd BHad H IGTHH AP B SHIHR Wl | ol ATcAd & FHIA | Wl I1cd J ST [ ATAD 61 Uh d|Whal d1ad Dl Th
compared to phase conductor in U.G cable? conductor conductor conductor conductor Waﬁwﬁ

37|What is the name of the tool? Cutting plier Wire stripper Crimping tool Side cutting plier |39 3SR &1 T AH §? I WRR TRR RER foh 1T ¢ TS DIcTT WRR

2
]

38[Which type of joint is used in over head lines Scarfed joint Britannia ‘T’ joint | Western union joint | Britannia straight [3=d d=dl 8q IRRIUR WS H I AT Sl PIhs e fSear T Sl | ded gRaa wis | fseri—ar e Sls
for high tensile strength? joint G'WT%QTG’IT‘IT%?

39(What is the reading of the micrometer? 5.05 mm 5.00 mm 4.55 mm 4.05 mm HIZhIHICR P UTedh I 57 5.05 mm 5.00 mm 4.55 mm 4.05 mm

01234 ;;
E 5
é

40[{Which method of soldering is used for Dip soldering Soldering with flame |  Soldering with Soldering with  [ATgl &I dIST b JUR & ISR Bl DI TSU AIcs I SaTdl b I IS 3RA P | JRIT [ &
repairing the vehicle body? soldering iron soldering gun ?ﬁﬁ'@mﬁﬂﬁ%’? AT a1y iy

41|What is the advantage of stranded conductor Cost is less More flexible Less voltage drop | More insulation  [Td §U AT 1 31 ATcich Dl gl H ol HH DA 3ffYp TR [HH dleest Uld 31ep peTeIDh
over solid conductor? resistance NI %’? yfaRre

42|What is the current capacity of the 16 Amp. 11A 13A 15 A 18 A 16 A HEd DI YRT &HA 1 &, TG g 11 A 13A 15A 18 A
Cable, if it is protected by coarse excess 3fee Sffafad urT gRET gRT WA g?
current protection?

43|What is the unit for Quantity of electricity? Mho Coulomb Volt /second Ampere/second |{SoTcll &1 AFAT & Tl ShIg T 57 =]l HAH dlec/Adh e TR S

44]What is the name of the soldering method? Dip soldering Soldering iron Soldering gun | Soldering with flame [SICSIRIT IaTE T T ATH 5?2 TSU gies i Jies T 3RRA e T 11 SINEEIR

45|What formula is used to find Electro Motive EMF = Potential EMF = Potential EMF = Potential EMF = Potential idg%d qTeP dd JTd D o 1Y JA DI EMF = [dyarR- EMF = EMF = EMF =
Force (EMF)? difference — voltage | difference + voltage | difference + voltage | difference + 2 x far ST 82 ard fayarR+diees | fayarmR+diees | favamaR+ 2 x

drop drop drop/2 voltage drop ard qrd/2 ard




46|What is the current rating factor for close 0.81 0.92 1.23 1.5 Had bl U DI SR YRT YR&T & g 0.81 0.92 1.23 1.5
excess current protection of cable? YRT I RSB ERZIT%?
47|What is the disadvantage of solid conductor Less rigidity Less flexibility Low melting point | Low mechanical |31 TTeie @I U §U ATcID Bl a1 H T HH HSR CEISEINIEE] HH I &HH YiAD e
compared to stranded conductor? strength B 82
48|What is the name of the soldering method? Dip soldering Soldering with blow Soldering with Temperature les T 191e) T &R ATH 872 RIS AU D A [HIeS I T & 1Y [qrgd HafEd
lamp soldering gun controlled soldering I RRl Oqreiar
B
a
49|What is the cause for cold solder defect in Excessive heating | Insufficient heating | Incorrect use of High wattage eI H 38 UIcex GIY &l BRUI HT 57 3ATYD HEHA 3T H™H e B TTad | 3 dIc JIcg ]
soldering? solder soldering iron - . PRIkl &ITJFI
50|What happens to the voltmeter if it is Low reading No deflection Meter burns out  |Overshoot deflection|adT BId1 B, UG dlccHIC Bl HICR DI qRo HH UTodih @I 99 ol | HIC Sd SR ENCERE
connected as an ammeter? SIS G|TQ’>
51|Which is the example for coarse excess MCB MCCB H.R.C fuses Rewireable type |31t/ 3ffaiad URT & 8g T IaIeRUl 672 MCB MCCB H.R.C TS T dR STeH
current protection? fuse unit g S Efb‘l'sc
52|Which conductors are used for distribution Insulated conductors |  Insulated solid Bare conductors Two core cable [[d%IR TTgI & ol HIH-T Hrsder IUAN | TYCS drodey R heded Gl PR Dhad

lines?

conductors

?

ERSNSSISIINE]
Fsdcd




Name of the Trade - Electrician 1st Sem - NSQF - Module 4 - Basic Electrical Practice

resistor by colour coding method.

EL2022

# Question OPTA OPTB OPTC OPTD Question OPTA OPT B OPTC OPTD Ans Levels
1|How many electrons are there in the 8 13 18 29 GIREZ WT(%G‘3 AR P&l | T 8 13 18 29 C 1
third cell of the copper atom? 3@3@?@% ?
2|Which is the semiconductor material? Eureka Ebonite Manganin Germanium AT a1y DI Il 67 gRhI ICIEIEE BEEEE STHITH D 2
3|What is the indication of neon polarity | Both electrodes will | Only one electrode | Both electrodes will | One electrode will |31 Yddl Yo BT AC 3MYId S=rd GHISddCIS Slald & | dd U SAdels oadl | Gl gadels dHdbd 6 | U SAdgls Sfali A 2
indicator used for checking A.C. glow will glow be flickering glow and another AT Yobd 1 ?ﬂ?ﬂ %? 3R A5 JHG
supply? will be flickering
4|Calculate the electrical energy in unit 0.5 unit 1.0 unit 1.5 unit 2.5 unit 500W @& o4 & 5 U< STel WR [9ggd 0.5 unit 1.0 unit 1.5 unit 2.5 unit D 2
consumed by 500W lamp for 5 hours. Sl ﬁwﬁqﬁzﬁ ECINIY
5|What is the value of hot resistance of 31.25 ohm 62.50 ohm 312.50 ohm 625.00 ohm 100W/250V ¥ 3¢S dcd & TH UicR1Y 31.25 ohm 62.50 ohm 312.50 ohm 625.00 ohm D 2
a bulb rated as 100W/250V? D1 HH T ITT?
6|Which law states that in closed Ohm’s law Laws of resistance | Kirchhoff's first law | Kirchhoff's second [ | [T9H ®gdl g, 1P 9 1G4 31T T A UTeRIY &b I [ 1 Ugdl [MaH [[hdIW &1 gaRI MIH| D 1
electric circuit, the applied voltage is law ROy H AT 4] diees], dlees UTd &
equal to the sum of the voltage drops? TR o SRIER Bl %’?
7|Calculate the total power of the circuit 50 W 100 W 200 W 400 W 200W/240V & &l <1T 240V 3TqId ¥ 50 W 100 W 200 W 400 W B 2
of two lamps rated as 200W/240V are IS §U T, $d i I BT
connected in series across 240V
supply?
8|What is the formula for the equivalent |R;=R; + R, + R3 Rp=t 1 t [ _ 1 Ry = 1 gl i WaRIY R1, R2 & R3 WA Rr=R,+R,+R; Rr= 1,1 1 R - 1 Ry = 1 D 1
resistance (Ry) of the three resistors R1 R2 Rz T Ri+R, +Rg 1.1 1 (gRoy A IS gl O pd ulaRiY I R1 R2 Rz T " Ri+R, +Rg 1,.1,.1
R., R, & Rz are connected in parallel Rl R2 RS |5ifom] RL R2 R3
circuit?
9|What is the reading of ohmmeter Indicate zero reading | Indicate infinite Total resistance | Value of sum of the [3TgHICR BT UT3dI% Jdl gC R2 UIcR1Y | X[ UTouid R obd | 3Fd UTSdId R Abd | URUY BT pA WoRIY  [RLARRIURIUT D [ B 1
across opened ‘R’ resistor? resistance value of the circuit resistance of R; |UR'HT @Tﬂ? HH TRT &7 7
RL — and R; only
=
M
OPEN o R,
RESISTOR LJ
Ry
10|What is the change of resistance Increases to two Decreases to four | Decrease to half of | No change in value [f&dl dlei® & WAy H 1 URRdd- GIAT b 9¢ SRR [IR T[T dcb HH ol SR 31T db HH gl i |UiaRiy H ﬁ's‘ gRdd- B 2
value of the conductor as its diameter times times the value of resistance BT, A I T B ST R fean
is doubled? Sg?
11|What is the name of the resistor? Metal film resistor | Wire wound resistor | Carbon —film  [Carbon composition [WcRTY &1 3T 7H g7 y1q Thed UiaRTY R 9 gU TRy PIe [her UiaRIY | e IS UioRIY B 1
resistor resistor
@\ @\
5
12|Calculate the resistance value of the 23x10°Q+5% | 26x10°Q+10% | 32x10°Q+10% | 37x10°Q+5% [FTHC AU GRITRIYBIAFTARY | 23x10° Q + 5% 26 x 10> Q + 10% 32x10* Q + 10% 37 x10* Q + 5% B 2




13|Why the ohmmeter is graduated with | Voltage is directly | Current is inversely Resistance is Voltage is directly [3fTRMHICR &l 3RTT HH H HI JHOId dlecel, TiaRIY & YR, UfRIY &b UIoRIY, YR dil b | dlece], YRI & a7l &b
non-linear scale? proportional to proportional to inversely proportional to the %EITGTW%? Wﬂ'ﬁﬂ% Wﬁqﬁﬁ%
resistance resistance proportional to the square of the
ta ©o ma 7 square of current current
Cu & 10:!
©oC OHMS OHMS ﬁ
14[Calculate the value of unknown 120 90 60 30 dleeH IsSl Dl A Bl 3faxiT H 120 290 60 30
resistance ‘Rp¢’ in the Wheatstone 3T UfRIY ‘R’ T HH I1d B,
brldge netWOFk, If PAB = SOOQ, QBC = olq PAB = SOOQ, QBC = 3000, SAO =
3000, Sy, = 15Q,at balanced 15Q 8
condition.
i
15|Which material is having negative Mica Eureka Copper Manganin 6" Uerd H BUMHD dTIHT MDDl YD gIh] GIE]] A
temperature co-efficient property? R gra %?
16|What electrical quantities are related | Current, resistance |Current, voltage and |Current, voltage and | Voltage, resistance |3{Idl & [79H ¥ e [dGgd IRMI HRT, YTaR1Y T RMiad YR, dlecol 3R YR, dlecol AR WRIY | dlecs, Uiy 3R
in Ohm’s law? and power resistivity resistance and current density ARk IR, gfeRIeHdT YRT &dl
17|Calculate the value of resistance ‘R,’ 20 40 60 80 AR URUY H R, &1 A JTd iR 20 40 60 80
in the parallel circuit.
1a 0 ,ﬂ| !
18|What is the effect of the parallel circuit | Current will remain [Whole circuit will not | No current will flow Voltage drop  [Ueh XM BH N IARR URUY | YRTFHAME SB[ GRT URUY DI T8l | I URATH URT el | ol URAT H dleeol
with one branch opened? same function in that branch increase inthe [T UYHIG ? GRSl BIGKEL)
opened branch
19|What is the unit of resistivity? ohm/cm ohm / cm? ohm - metre ohm / metre UTRIYhdl I T SPTg 572 RIS e 3T-AlcY 3MgI/AR
20|Which type of resistor is used for Arc Varistors Sensistors Thermistors Light dependent  [Fidhe SIhR| H 3{Tch A & & [T IR YRR YRR dlge feUsc IR
guenching protection in circuit resistor (LDR) 59 goR & UfaRie &1 IuanT fear
breakers? ST 82
21|Calculate the value of resistance by 22 x 10%+ 10% 23 x10*+ 10% 25 x10°+ 5% 36x10°+5% [ %C 1414 % GRI UIRIY BT A g13U 22 x 10%+ 10% 23 x10*+ 10% 25 x10°+ 5% 36 x 10*+ 5%
colour coding method.
4
H
22|Calculate the unknown resistance 4Q 60 8Q 120 dleXM IS5 Dl g &l {a=TH 4Q 6Q 8Q 120

“Rpc” in the Wheatstone bridge circuit,
if P,g=400 ohms, Q=200 ohms and
Sap=120hms at balanced condition.

ELN140879

ST UfGRIY ‘Rpe’ BT HIM 1 B,
Gfa PAB = 4009, QBC = ZOOQ, SAO =
120 8




23|What is the reading of the voltmeter oV 6V 9V 18V diccHICR 'V' &1 UTedid dd1sy| oV 6V 9V 18V
V'?
24|Which is the application of series Voltmeter connection| Lighting circuitsin | Shunt resistor in | Multiplier resistor of |90l URUY BT T IUWINT 52 dlecHIcR YT WRI H YHRIYG TRIY 3R H T[T UTaRY dlecHIeR Bl
circuit? home ammeter a voltmeter e TR gfaRiY
25|What is the effect on opened resistor | No effect in opened | Full circuit current [Total supply voltage |  No voltage will [0 TRU T gof §U TIcRIY TR I THTT | G TRIY H DI THIG | Jd MeRig 7 { G TRIY & Gl 3R IeRTY & Gl
in series circuit? resistor will flow in opened | will appear across | appear across the |[8? Tl TRy URT Pd GiTCIﬁfEﬁéTrr R Ehﬁ'ﬁ“ el Tol
resistor the opened resistor opened resistor RRGH
26|Calculate the resistance value in R, 4 Ohm 6 Ohm 8 Ohm 12 Ohm R, WIcRIY | UIaR1Y T A ddIsU 4 Ohm 6 Ohm 8 Ohm 12 Ohm
resistor.
R=AQ
12a Ry€01
- i
i
27|What is the effect of the circuit, if ‘ab’ | Circuit resistance will | Same current will | Supply voltage will | Total circuit current [TRTY BT T YHTd BT, Tl AB Bl URUY WIARIY LA 81 | FHT Ra13fl H JHH U URATH 3MY[d | pd TRUY YRT IdD
points are shorted? be zero flow in all branches | exist in each branch | is equal to each ?TWW@WGTW SR YIRT TN CIGSSRG RAT YRT & THH
branch circuit
current
: ]
%
28|What is the name of the resistor if its Varistors Senistors Thermistors Light Dependent  |gic AU H Jlg & AU YD UIARIY dRIFR YRRCY YRR drsc feuec YRReR
resistance value increase with Resistor (LDR) |HIH dgdIl % Al gfeRie &1 19 & %’?
increase in temperature?
29(What is the formula for Quantity of Current x Time Voltage x Current |Current x Resistance Voltage x fagqgd AT &1 JF 1 52 YRT x JHY dlecy] x YRT YR x Yoy dlee x UlaRIY
electricity (Q)? Resistance
30|What is the unit of conductance? Mho Ohm Ohm-m Ohm/m ATADdl Dl IPbTg R 872 i 3T 3TF-AR 3R
31|Which one defines the change in Temperature effect |Laws of temperature|  Temperature Temperature co- |31gH Uld I$Ul IS (° C) W UTaRIY H AIIHME UHTd GIECIEEAREE) I Fadie AIIH 0T
resistance in Ohm(Q) per degree constant efficient URkadH &I S A1 aRHTRT Hrar %‘?
centigrade (°C)? - - -
32|Which type of meter is used to test Moving iron ammeter [Moving coil voltmeter Moving iron Dynamo meter type [Sc31 @1 {ddT Siid & oY Ty UbR 1 ERNIEEI I Hsall dlecHIC Id dIg dlecHIC] SIGHMAICR UhR Bl
the polarity of battery? voltmeter wattmeter e yanT forar Sirdn 82 qreHer
33[What is the voltage drop in resistor 5 volt 10 volt 15 volt 20 volt U URUY H UlaRIUP R, H dlees Uid 5 volt 10 volt 15 volt 20 volt
‘R," in the series circuit? L IERIEY
Ry 3000 R, 4000 g
34|Which is the application of series Fuse in circuit  [Voltmeter connection| Electrical lamp in Shunt resistor in |90 TRUY P11 TN 572 TRTY H WSl glecicR Jgiol- WRI H [dggd du 3dte} ¥ T[T UiaRIgh
circuit? homes ammeter
35[Which method is used for measuring | Substitution method [Kelvin bridge method| Wheat stone bridge | Voltmeter and |1 3fT&1 ¥ 100k 3{Igl I HIUF &g I Al VeI fafer hicd Tsiol [A1g Rlck i ool A glecdic] 3R THCR
1 Ohm to 100K Ohm range method ammeter method  |f3fY &1 Iz fam Srar 872 fafdr
resistance? . :
36(What is the S.I unit of specific Ohm/cm Ohm/metre? Ohm-metre Micro ohm/cm?  |TAIRIE UIcRIY @i S| ShTg R 5?2 S{TRIAHT 3NgI/HeR? 3IF-AIR TTShT SN

resistance?




37

What is the value of resistance of the
resistor?

ORANGE ORANGE RED SLVER

EL111713

330 + 5% Ohm

3300 = 10% Ohm

33000 = 5 % Ohm

330000 = 10% Ohm

TiaRItD & TiaRIY Bl 1 HIH 872

330 + 5% Ohm

3300 = 10% Ohm

33000 = 5 % Ohm

330000 = 10% Ohm

38|What is the purpose of the shunt To limit the currentin | To increase the To adjust the zero To preventthe  [901 UhR & 3T Hic URUY H R TROY H YRT S HMHG | HICX TIRIY & TH B |Hhdd DI L [T BT [TIRGY SR URT
resistor ‘R,’ used in series type Ohm the circuit value of meter position of the excess currentin  |fcRIY RZWWW%’? HAT eI AR HRAT B AHT
meter circuit? resistance pointer the circuit
[E 5
!
39|Which electrical quantity affects the Voltage Square of the current|  Square of the Current passed |1 Hi [dqgdid TR TTeih H SHEHT dlecol YR BT a7 JioRIY 1 a1 I9Y Ydligd URT
heat generated in a conductor? resistance through it IAF DI YT it %’?
40|What is the change in value of No change Decreases 2 times | Increases 2 times | Decreases 4 times [TTele o UIaRIY o HIF H T YR Pl URad ol AN HAGIGGAI G | & T 3MYP B SNl & | IR AT HH gl oIl &
resistance of the conductor, if its % SR SR ITUR] DI &TBA
cross section area is doubled? HESIG %’?
41[Calculate the voltage drop across the 48V 72V 80V 100 V URUY § UicRIY® R, TR dlecs UId &l 48V 72V 80V 100 V
resistor ‘R, in the circuit? TUMAT B
R38O Ry=100 Ry=500
Ry=800
" 220V - §
42|What is the resistance of Light Increases Decreases Remains same Becomes infinity [TTgc feUSc IR BT UIdRIY T GITI, dem BRI TJHM I 3d Bl S
Dependent Resistor (LDR), if the Tfe g1 P figar 9¢71 & S
intensity of light is increased?
43[Which formula is used to calculate the Voltage x time Current x voltage | Current x resistance | Voltage x resistance [ST91 GRUY H R D1 UM hRA DI dlecsl x Y YR x dlec ol YRT x Ty dlecol x U1y
power of a DC circuit? ERIESE] %’? '
44| Calculate the hot resistance of 200W / 31.25Q 62.5Q 31250 625 Q 200W / 250V XT8 o9 & TH HIcRIY 1 31250 62.5Q 31250 625 Q
250V rated lamp. U B |
45|What is the value of resistance in an Zero Low High Infinity U Gl Ficve H YIARTY T HH T 57 T HH 3ffeh 3d
open circuit?
46|Which resistor the lowest current 50 220 Q 450 O 560 Q FHTR URTY H 3 §T500Q, 2200, 50 220 Q 450 Q 560
flows in a parallel circuit having the 450Q U1 560Q of 7§ I frg
values of 50 Q, 220 Q, 450 Q and TRy H T HH URT §81d T2

560 Q connected with supply?

47

What is the specific resistance value
of copper conductor?

1.72 Ohm/cm?®

1.72 Micro ohm

1.72 Micro ohm/cm®

1.72 Micro ohm/m

I dTeleh D1 [AIRY UiaR1Y A 1 82

1.72 Ohm/cm?®

1.72 Micro ohm

1.72 Micro ohm/cm®

1.72 Micro ohm/m

48

Which is inversely proportional to the
resistance of a conductor?

Length

Resistivity

Temperature

Area of cross
section

§W$uidwa€wﬂmwm
?

NS

PIRNCEI

GISEIE]

IR PIC HT GADH
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substance?

# Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1[Calculate the total capacitance value in 0.16 pF 6 uF 30 uF 70 pF TRUY Pl Pl AUTRAT ! VAT it 0.16 pF 6 uF 30 uF 70 pF B 2
the circuit.
30uF 10uF 30uF
a {t I
—
2|What is the unit of capacitance? Mho Henry Farad Coulomb YTl Pl Shls K 87 =l I PE] HAH C 1
3|What is the capacitance value of a 0.014 F 0.025 F 0.14 F 0.25F Th FYTRA DT YTRAT HIH 1 g7, Tl 35 0.014 F 0.025 F 0.14F 0.25F A 2
capacitor that requires 0.5 coulomb to Ffawo.s HdH T B
charge to 35 volt? ( SMTTLID B2 [ (
4[How the value of capacitance can be Increasing the plate Increasing the Increasing the  |Using high dielectric | HHUTRAT & HIH &l &y BH [hAT Sl Hbdl | Wic &hd Pl 9gIhR | Wicl b U1y bl SEEEEER] Sl u(lqul!fld C 3
decreased? area resistance of the distance between constant material %’? delhr dglhr Fradie uerd &1
plates the plates I HP
5|Which is the diamagnetic substance? Air Steel Water Platinum RIGHED I Jard I AT 5?2 ag BRG] o EyiEEs C 2
6|Which factor affects the polarity of the Length of the coil | Direction of current | Strength of current |  Strength of the | IH ¥1 BR [dggdd grd DI Yarddl Bl EEREGESISIE YR ] [a» YIRT ] fad DI &F DI WAad | B 2
electromagnet? magnetic field T PRl 87
7|What is the unit of Magneto Motive Force Ampere / M? Ampere - M Ampere - turns Ampere / turns THIDIY dIgh 1 Pl HT DI 6?2 TR/ THRR-HI THRR-cY THRR/C C 2
(MMF)?
8|What is the total inductance if 3 inductors Lr=LyxLyx Lg Lr=litle+ls [L=1 1 1 Ly- 1 Tle 3 WRhd (L, L, AR L) AT H Js Lr=L;xLyx Lg Lr=li+le+ Ly |Lr=1 1 1 Ly- 1 B 2
(L4, L, and L3) are connected in series? L, L, Lg L, +L, +Lg gq%zﬁwﬁwam%? L, L, Lg Ly +L, +Ly
9|What is the unit of permeance? Ampere - turns | Weber/Ampere turns|Ampere turns/Weber| Weber/Square IR i ST A1 872 TOIR-cH JR/TARR-cY THR-cH/AR IR B 1
metre
10|Which rule is applied to find the direction Cork screw rule  [Right hand palm rule| Flemings left hand |Flemings right hand | IRTIcIT ol H & &1 Ia” Ib Tp A Qg1 I BIgYUcll | TWIHT SIS I | TRITHIT bl Gl oY B 1
of magnetic fields in a solenoid coil? rule rule TioH & oA ‘\:% o fopan Srar &1 e P e &1 fgH
?
11[Calculate the total value of capacitance of 4pfd 10pfd 15pfd 40pfd YOI TRYY DI Hal HYUTRT ! O] 4pfd 10pfd 15pfd 40pfd D 2
series capacitor circuit. Pifor
T -
Ji] 22— i
H
12|What precaution to be taken before All the capacitors Each capacitors Total capacitors  |Break down voltage | 4@ H IaTHd dlecel T HUMRAT B | IH SUNIRR TP &l TP HURICR dlecdl | P HURICR BT AF | T JUTRA BT B 3
connecting the different voltage rating must be same voltage drop must | value must be less | of each capacitor S S 1Y tl%ﬁ FT QAT §Rall o BEIGIED ElT%Q S ELSCo| el TuRa & Fgan  |shersd diees A
capacitors in series? manufacturer be less than its than the lowest must be same qrgT? IS W A g1 1T | A T HH gIHT AT RelEIRHY
voltage rating value of capacitor
13[Which material is the paramagnetic Cleat wiring Copper Bismuth Graphite EREIEFAREREECIEEMRER Al AR GIED foaTy DLIE B 2




14|What is the part marked as ‘X’ in B.H Coercivity Saturation point Magnetizing force [Residual magnetism| B-H @b H 'X' gRI 3lfdbd HIT b1 ATH CANEIEE] I fog ESCAPER] 3R b
curve? ERIEN

15(What is the similar term in magnetic circuit Reluctivity Permeance Reluctance Permeability 19Ggd UG § "A1cehdl” & eTU gadid Redclidc] R Ry ENEBIEING
for “conductance” in electrical circuit? fche & WU Wsg FT 8?2

16|wWhat is the unit of Reluctance? Weber / metre? Weber / metre Ampere turns / Ampere turns / Rl g &l hTs K182 JR e /AR THTR-C/daR THOR-c=I/qa??

Weber me’[re2

17|Which is the correct expression of c -9 c_-V cC=VQ C = VO J7c faggd 31a% 'Q' § 3R dlecdl V', c -9 c-V cC=VQ c=Jvo
capacitance ‘C’ if the electric charge is ‘Q’ v Q ar FeuTar 'C’ Pt Tet Hfieaa T 82 v Q
and the voltage is ‘V'?

18[How can you increase the pulling strength | Increase the field | Reduce the current |Reduce the number | Increase the B-H | 30 U idq%w DI GlaH DI dldbd | A DI dgdl g6l | PScll H dIC HH DR | Pocll H gA@l I [T & §i-Td Ib Pl
of an electromagnet? intensity in the coil of turns in the coil |curve of the material WW ? TS Y B deld

19{Which defines the flux density is always Hysteresis Magnetic intensity | Magnetic induction |Residual magnetism| Ui 9-cd GHRM EREERIE] SR THDI dledl THDIY TR 3ARIY DI
lagging behind the magnetising force? edl % e ﬂ-ﬂfﬁﬁm%’?

20|What is the effect on surrounding metal Hysteresis Skin effect Eddy current Dielectric stress | JaP 1T & H QI T3 SMRAUTH & 9Tg TR TR SEIEHIE] HR YRT WRI[dggd d1d
placed in a magnetic field? EPJTW—HHEIEFIT%?

21{In which device the air capacitors are TV tuner Oscillator Loudspeaker Radio receiver Y JYTRA T IUANT {b ¥ IUBRU H 2l R ANEE &qH-TaTIRS T Tl RATaR
used? [ERIRIGI] %?

22|What will happen, if the polarized No effect on the Explode due to Current is reduced Value of Tlg gdipd smch;ml%i & HYUTRA [qURIG | HUTRA TR DI JHIG | ST TH B HRON | TRUA T YR HH g1 |FUTRAT BT T Sg1-A1
electrolytic capacitor is reversely capacitor excessive heat in the circuit capacitance will be FTUY VST g3l %, aran EﬁTn? T fawpie ST ST
connected? increased

23|Which is the diamagnetic substance? Wood Nickel Platinum Manganese RIF T Gerd oIF A1 8?2 REE] BEZY Wil EUEIT]

24|What is the S.I unit of Flux density? Tesla Weber Weber/metre Ampere-turns TRl 9cd Dl S| Shls HT 67 Xl daR deaR/AICR THIR-c

25[What indicates the shape of a BH curve Reluctance of the Field intensity of | Magnetic properties |Pulling power of the |  TGIJ &1 B-H dsh (lec RN ¢U) & Tard BT Raac Y UG @l & digdl | &I D] JHd™I JID I HIHl Dl
(Hysteresis loop) of material? material the substance of the material magnetic material HIPR T QRAId %? ﬁxﬁw BIESECIER]]

26|Which electrical quantity is directly Voltage Current Frequency Resistance I Il Tdggd AR JIY HaR YRT & dlecol HYRT 3 PIRRLD
proportional to the eddy current? W’I’cﬂ grat %‘?

27|Which is the cause for changing the Length Flux density Field intensity Magneto motive | IRIFRITSTeICT & URAIdd gIH &l &I HRUT SISIE] Tl U REGIEG] IID 1Y dIgD g
permeability? force %‘?

28|Which type of capacitor is used for space Plastic film type | Ceramic disc type Electrolytic- Electrolytic- T8 JBR DT HUMRA (ARE SR | WIRCH [hed UPR | RRIHSD ST JPR | TAdCIARIcd- | FAaCIAgICH-CCar
electronics? Aluminum type Tantalum type %WWWW%’? UHhR UhR

29|What is the effect of the electrolytic It will not function | It will burst at once | It will become leaky It will function SAdCIqISIcd JURA BIYHIG RN BT 5, | TG P Aol P gg Uh IR § e gg dicb 8l W (I8 M =9 J
capacitor, if open circuit fault occurs? normally SR Gl qRuy gy gidm %? Nl B

30[What will be the change in value of Becomes zero Remains same Decreases Increases gl HYTNA H Il i grl HH 81 9Tl &, [ Bl ST THT e HH g EII
capacitance if the distance of the plates ar enfear & A H 1 uRadq gme
are decreased in the capacitor?

31|Which property of magnet is illustrated? Directive property | Induction property | Saturation property |  Poles existing b Dl DI Al [IRIVAT GRS TS 672 Ta=IT Ta=Ivan UROT TO=ISdT T fa=Iod ${d HIN[G A=V

ELumae

property




32|Which is a paramagnetic substance? Air Steel Glass Water SITED I Jard I AT 6?2 ag BRG] CaE] B

33|Which method of magnetization is used to | Induction method | Single touch method|  Double touch Divided touch JFIHIDRU] Dl 1b Y 1919 Dbl ST OROT fater Tohdl TR fate alg] TRy fafer Tavmiord o=t fater
make commercial purpose permanent method method ClTIRED G%QCI %E[ Rt CEIE|
magnets? 1%1"2 T SiraT 52

34|What is the effect of inductance if the Increases Decreases Becomes zero Remains same | TI¢ HTA! & S &I 3 Fgdl &, dl U1 qeil g T Bl S THM B
distance between the turns increases? BT YU T 82

35|What is the function of dielectric insulator Increases the Prevents any Protects from short | Helps to hold the | JTIRA H WRIIdGdd PA®d DI PRI HT | HURAI DI b | WIcl & dF [h¥l HI | WKl D &I agu | HUTRA H TR H]
in capacitor? strength of current flow circuit between the | charge in capacitor 82 qeldl ? R JaTe DI Ahll & REEIG e I dh TG4 |

capacitance between plates plates for long period Haq Hdl %

36|Which factor is determining the value of Area of the plates | Shape of the plates |Material of the plates| Thickness of the [IJUTIRA H YTRAT BT HIA [hY HRD D gRI cl Bl &I d wIcl Bl 3MHR el 1 Uard wicl @l HIcly
capacitance in capacitor? plates i g1 var %’?

37|Which type of capacitors are used in RF Tantalum Monolithic Electrolytic Metalized poly SRUB A Hlae H [hd TPR & ccad BIEINIRNED ENERINIEEE BIRCGEINIEIEIESIE!
coupling circuit? propylene YT WG‘C@I"TWG’I?IT%?




Name of the Trade - Electrician 1st sem - NSQF - Module 6 AC circuits

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|What is the unit of susceptance? Mho Ohm Henry Farad T Pl Thlg HT 87 gl 3 g} S A 1
2|What is the resistance of the inductive 48 Q 42.50Q 38.4Q 26.6Q IR d PSall Dl IaIY T gITI, S 48 Q 42.50Q 38.4Q 26.6Q B 3
coil takes 5A current across 240V, 240V IR 5A ?IRT@T, 50 E‘cfﬁr BriTCﬂﬁ
50Hz supply at 0.8 power factor? 0.8 SIfad T[UTe 872
3|How the resonance frequency (f,) can Increasing the Reducing the Increasing the Increasing the value [A.C 901 URTY | 3Tc 31 (f) B | IRebd HH H Jig | GUTRAT A H BT | JUTRAT A1 A Jieg | ITaRIY A H gl B 3
be increased in A.C series circuit? inductance value capacitance value | capacitance value of resistance > EERISIR G %?
4|What is the formula to find 3 phase P= VI P,= 3V, Il Cos g P55 VL ILSin g P V I Cog |3 &al Rulded UIR (Pg) I MebTe P,= VI P,= 3V, I Cos P=/L1.Sin o P=/¥ I Cos gl C 1
Reactive power (Py) if the line voltage ¥ fom o1 43 ®, 3fe g dieew
is ‘V ' and line current is ‘I_'? 'V’ HERESH I %?
5|What is the main cause for below 0.5 | Due to fluctuation of | True power due to |Reactive power due [Reactive power due to |3 Sdl YUTTell H RIfed 70D 0.5 ULTHI [ dleesl & IdR- UIRIY® HR b | 3fieih YRP HR & | 3MTeIP YR HR C 2
lagging power factor in 3 phase voltage resistive load to more inductive | more capacitive load |§ ¥ 817 T HRUI AT 8?2 IGMA H HRU | HRUT 3l fed | SR uffshareia HRUT
system? load gfafearia ufed
6/What is the current in neutral No current will flow | The algebraic sum | The algebraic sum [Lesser than the lowest [%R §|QIi\ﬂd RRcAd 3l 3RIgicid | Bl URT ol 9g7il (3B H YRT DI | Had 2 parei # [FaeiAATRAIH| D 2
conductor in 3 phase unbalanced load of current in 3 of current in 2 current in any one of |HR T IeRiA aTas | URT T %’? oy i YR BT SHoNg TRT | g9 HH 4RI P
in star connected system? phases phases only the phases gamfram
7|Calculate the apparent power in KVA 15.2 KVA 11.5 KVA 9.2 KVA 5.3 KVA 3 &I, .415V, 50 Hz, ¥R Rreq 4 15.2 KVA 11.5 KVA 9.2 KVA 5.3 KVA B 3
of 3 phase 415V, 50 Hz, star system, HAT H MHRR WfFT Y 70T B,
if the line current (I,) is 16A at 0.8 T T3 YRT (1) 16A § 0.8 Ufdd
power factor. T[0TIh TR-
8|What will be the readings of two watt | W; & W, both are | W, is Positive and | W, is equal to W, | Zero W, is Positive |3 &l fdoicll AT H Gl dIc ACR (W; | W, IR W, GHl | W, YIS 8 IR | Wy, W, P RTeR | W, J[A YTHS © C 2
meters (W& W,) in 3 phase power positive reading W, is negative but with opposite | reading, and W,is  |& W,) @I & o grft, afg araR YTHD UTSdIh W, FBUTHED g, W fmdla | iR w, BurEs
measurement, if the power factor is reading signs negative reading  |thaex I 82 Ueuish & Tobdi & 1Y UTediP ©
zero?
9|What is the maximum value of voltage 240V 415V 339.5V 376.8V 240 dlec RTATY & [T dice ol Bl 240V 415V 339.5V 376.8V C 2
for 240 volt RMS? SHfYFHaH e FT 82
10|What is the condition for resonance in X, > Xc X, < Xc X, = Xc X, > V2 Xc RLC Ul GRUY H 3fTG & g T X, > Xc X, < X X, = Xc X, > V2 Xc C 2
RLC series circuit? (Inductive fufag? (ﬁ?ﬁuuﬁr‘m =X/, TR
reactance = ‘X,’, Capacitive reactance gferdrd = *X¢')
=%Xc)
11|What is the formula for Reactive P, = VI P, =2 VI P, = VI cos 8 P,=VIsin® AC Tlbe H RUlged UTaR (Pg) BT A P, = VI P, =2 VI P, = VI cos 8 P,=Vlsin @ D 1
Power (P,) in an AC circuit? =T %’?
12[Calculate the impedance of the circuit 69 Q 650 13 Q 120 R=5Q0, X,=36Qand Xc =24 Q§, dl 690 650 13 Q 120 C 3
R =5Q, X,= 36Q and X = 24 Q. gfkgy # ufaerer o 7o IR
R x
1 ‘
- — |
g i
13[What is the phase displacement in a 90° 120° 180° 270° Thd bd AC URTY H HeldR Jhdl 90° 120° 180° 270° A 1
single phase AC circuit? %’?
14|What is the relation between the line [y, = /3 Vp _ TR HaIvd R A dls dleesi(Vy) v, = /3, _ A 2
A\ V. =3V - V, =V, /3 . A P V, =3V - V, =V, /3
voltage (V,) and phase voltage (V) in L P Vi =Ve I3 L P TUT T dleeol(Vp) H TR 93T L P Vi =Vp /N3 L P
star connected system?
15|Calculate the line current of the 3 85A 52A 45 A 34A 3000 dT¢ ddield HR, 0.8 Tidd hyica 85A 52A 45 A 34 A B 3

phase 415V 50 H; supply for the
balanced load of 3000 watt at 0.8
power factor is connected in star.

WRERAY 3 &l 415V 50 HZ
3Yfd §; AT YRT & T HY |




16|What is the power factor in a 3 phase 0 1 0.5 0.8 <9 ST RMiad AIY- H & dTe Jie”l J 0 1 0.5 0.8
power measurement of two REIEEUSE WWWWW
wattmeters showing equal readings? %’?

17|Calculate the power factor of coil 0.8 0.6 0.5 0.3 24Q URRYY aTet Hocil o Rfad I[0MD 0.8 0.6 0.5 0.3

having resistance of 24Q, draws the
current of 5A, at 240V/ 50H, AC

supply.

DI TUFT DI, ST 5ADT URT, 240V/
50HZ AC 3TYfd TR Tt gl

18

What is the formula to calculate the
impedence (Z) of the R.L.C series
circuit, if the inductive reactance (X,)
is less than capacitve recatance (X¢)?

Z=R%+XL 2+ X2

Z=4R%2+(X_ —X¢)?

Z=yRZ+(X12-X)?

Z=4/R%2+(Xc-X,)?

SRUAH URUY & YIS (Z) bl 0T
TR BT YA 71 7, S IR yfrera
X)) i (Xo) T HH 82

Z=R%4 X012+ X2

Z=R2+(X_-X()?

Z=RZ+(XL%X¢)?

Z=R?+(Xc-X,)?

19|Calculate the power factor of R.L.C 0.5 0.6 0.7 0.8 UICRIY (R) = 15Q, TIRUMHT FidHTd (X) 0.5 0.6 0.7 0.8
circuit having resitance (R) = 15Q, =20Q H 240V / 50Hz AC :
resultant reactance (X) = 20Q R.L.C URUY & ifeRf T[0Tieh 1 70T
connected across 240V /50Hz AC P2
supply?
20 3.33 Mho 0.33 Mho 0.033 Mho 0.003 Mho 240volts / 50Hz AC &rrcﬁ 3R 8 Amp 3.33 Mho 0.33 Mho 0.033 Mho 0.003 Mho
Calculate the value admittance (Y) of YRT YATE a1 I8 RLC THMIR
the RLC parallel circuit connected & A TG (Y) BT TUFT B | SqH
across 240volts/50Hz AC supply and HTegH § Hee U BT ST 872
8 Amp. Current is passed through it ?
21|What is the formula to calculate the _ Uhd dll RC AR URYY H e _
I, =1x -1 = 2 2 I, =1 -1 = 2 2
line current (I,) of this single phase R - L='R7C I =lg +Ic I, =Ir" + Ic I, =4/Ir% +1c?®  |4RI(1,) B UM HRA HT G &- L="R7C I =Ig +Ic| 1 =1r%+ 1c I, =yIr? +1c?
C parallel circuit?
k le
R Cc
22|How the low power factor (P.F) can be By connecting By connecting By connecting By connecting Tl ORUY H & H RMidd TOND (P.F) Bl | TIRIYT BT JUMNH | FUTRA] b1 90T H | IRbed] ] J0M H | FUMRAT DI FHGR
improved in AC circuits? resistors in series | capacitors in series | inductors in series | capacitors in parallel |[5¥ S8R ST S bl 872 SISERY CIEERY SIEERY 2| KT ony
23|What is the formula to calculate the P=3V_I_Sino P =3V, I CosO P=y/3V I _Sin® P=3V_ I _Cos8 A ool iy RTad (P) DIV HIA | P=3V, |, Sind P=3V_ I Cos® | P=43V_ I Sing P=y/3V 1 Cos®
three phase active power (P) if the & ﬁ*ﬂ! REE %‘ e ERl (VD)
line voltage (V,) and line current is I, 3R 1T YRT () 8 3R BT DI '0 82
and phase angle is ‘0'?
24|What is the relation between the line I =1p I, =31p I, =+3Ip IL=1p{3 Scel U s ReH H drg &Re (1) iR L= Ip IL=31p L= V3p IL=1p/ 3
current (1) and phase current (Ip) in TS BT (Ip) P o T JaY 87
delta connected system?
25|What is the purpose of phase To control the speed | To protect motor To indicate the | To ensure the correct |®dl 3JshH HICR Bl I KT 6?2 3 TRUNHICR ] TMNd | RIC Flove Tadi & | 3 R0 & TTeld 3 TRUI YUl &
sequence meter? of 3 phase motor | against short circuit incorrect phase phase sequence of 3 FIfFEFTTA S | a® Al 3 qu?ﬁ el @Rl SRE
fault sequence of 3 phase phase system ferw & & fog SN & fau |3t ﬁﬁ‘@ﬁ PAD
ferg
26|Calculate the apparent power of a star 12.45 KVA 57.50 KVA 3.320 KVA 7.188 KVA Th TR A \_{l;%’ 3 @dl HR &I Syt 12.45 KVA 57.50 KVA 3.320 KVA 7.188 KVA
connected 3 phase load, if it is sr%rafr TUMHT %X, 3R I8 0.8 Ve
connected across 3 phase gUW U 3 &l 415volt / 50Hz BriTCﬂﬁ
415volt/50Hz supply at 0.8 p.f and the ST 8 3R el YRT10 A B
phase current is 10 Amps.
27|What is the P.F if one of the 0.5 Zero Unity Below 0.5 3 A RMfdd A9 J 2 IrcHR [ A H 0.5 Zero Unity Below 0.5
wattmeters reading is zero and the 9 afe b R UTSAT il Gh? QI Pl
other reads total power in 2 wattmeter AUd UTRITh % GIRUES] T[UIT -1 %‘?
method of 3 phase power
measurement?
28|What is the formula for form K. - Average value _ RMS value Maximum value |¢ _ RMS value EgE| W(Kf) DI LA T %? Kf=31d Kf=3RUHAIY Kf=3{frmaH Kf=3RUHTYH
factor(Ky)? " RMS value ™ Average value f:Average—vaILue f~ Maximum  value HIH/SRYATH HIH T/ A HIH/ ST A A/ T |
29[Which electrical term is defined as the Resistance Impedance Admittance Susceptance xS AR TRYY H YRT & $d [RIY PIRRE] PIGEIEI] TSy q9q
total opposition to current in AC %wﬁ%ﬁg&awaﬁuﬁuﬁa
parallel circuit? [ERISIGI %’?




30|Which AC circuit contains the phase | Pure resistive circuit | Resistance and Resistance and Resistance, 59 AC TRUY H dlcedl (V) IR PRe | Y TaRidl URUY | UiaRIY Td IR | UTaRIY Td UTRad | UioR1Y, URebed Td
relation between voltage (V) and inductance circuit | capacitance circuit inductance and () %@?{WWWH@W%O gRuy gRuy YT gRay
current (1)? capacitance circuit

1/
o H

31[In a 3 phase system, if the active 1 KVAR 2 KVAR 3 KVAR 4 KVAR 3 Sl YuITell |, i Alshd i 4 kw 1 KVAR 2 KVAR 3 KVAR 4 KVAR
power is 4 kw and the apparent power % 3R YT =fT 5 KVA % ar
is 5 KVA, calculate the reactive EIGERIRISRIESEIRINE]
power? P2

32[In which condition resonance will Inductive reactance | Inductive reactance | Inductive reactance | Inductive reactance [3R-Td-Hi 90N URUY H [bA RUMH [ IR WidHTd (X,) |IRPH Uiadrd (X,) |URb 1A Uidand (X,) [URb ™ Uidard (X,)
occur in R-L-C series circuit? (X) is zero (X)) is equal to (X) is greater than (X) is less than HTHE{@TH'? 12]3:[% TR ufaara

capacitive reactance capacitive capacitive reactance (Xe) P RR S Xe) J e g (Xe) IHIR
Xe) reactance (X¢) Xe)

33|How will you obtain positive reading in | By interchanging the | By disconnecting By reversing the By reversing the |3 &l Gl AICHICR 1414 H ATcHICY & SFRARRI @ [URI %3? 1 HIex |HIE H Ga1d P sl [HIcR H Ga1d psal
the wattmeter reads negative reading | connections of input | the connection of connection of pressure coiland  [FUTHD, Wéﬁ IR 3 YATHD daeH e (HY HRA | P YA dgad W | 3R %ﬂﬂﬁ?ﬁ &
during terminals current coil in meter | pressure coil in  |current coil connection TTodich & T H1? o W W TG Faad R
3- phase two wattmeter method? meter in meter

34|What is the form factor (K;) for 1.00 1.11 2.22 4.44 Tdsh 1T THI & eld ThIH thaceR (Kf) 1.00 1.11 2.22 4.44
sinusoidal AC? 15?

35(What is the reciprocal of inductance in Reactance Admittance Conductance Susceptance T JAMIGR giRTY H URbed D1 BIREIN TSy EIRGEI] q9q
AC parallel circuit? IR 7 872

36|What relationship is illustrated in Current and voltage | Current and voltage | Current lags behind | Current leads ahead [4R]Td dlccsl b A DI T Tra=] YRT T dlc'c\}sl YRT TG dlecs Hal | URT, Alec ol & UlY | YR, dlecsl & 3
between the current and voltage? are “in phase” are in out of phase the voltage of the voltage TI'CIT%’? A Sl | % | 5 3Ed %

0

37|Calculate the total power by two W, x 2 W, only W, - W, W, + W, @l greHler (W1 & W2) TdTe gRT W, x2 HAd W, W, - W, W, + W,
wattmeter (W, & W,) method, if one TI'UF-lTT:I?_\\r gf¢ T aredic}
of the wattmeter (W) reading is taken (W2) QST Ieer & a1 off oI %I
after reversing.

38[In which 3 phase system, the artificial 3 wire star 4 wire star 3 wire delta 4 wire delta connected [®F Il 3 Tcll YUKl B, ol dices] dl | 3 dR TR JANNd | 4 IR TR J4lieid |3 IR Secl JAlold |4 dR Secl Gaiterd
neutral is required to measure the connected system connected system | connected system system A & o qsﬁq ISR dR &1 ey Reen
phase voltage? STIRIDh T fﬂ?‘ﬁ %‘?

39(What is the line voltage in 3 phase 380 Volt 400 Volt 415 Volt 440 Volt 3 Tyl R’eH ¥ Tfd Bl dlecsl 240V 380 Volt 400 Volt 415 Volt 440 Volt
system if the phase voltage is 240V? ﬁ ard Rl diee 1 EﬂTIT’?

40(Which formula is used to calculate _ Effective  value _ Average value Effective value _ Average value TTH Thae(K) 1 I R 5?2 Kf=OHTal Kf=3lgd Kf=0Tal Kf=3{gd
Form factor (K;)? f ~ Average value | | Effective value f = Maximum value | | Maximum value /3 °H qEAYd aF | JF/efedd o4 | gr/sifiead ae

41|Which formula is used to calculate the 2 2 RLC §@dI Hiche & UIdaTdT (z) Dt 2 2 2 2

Z=R“+(x, ~x Z+ 2 ~ = ~ 5 Z=R* +(x, ~x 7 = R? ~ = ~ Z=4R ~
impedance (z) of a RLC series circuit? (= xe) #hwmxe) 1 Z=gR w0 mxe) ‘-=\/R2 +(xL ~ X ¢ JP{TorT A & for b g b1 SwEim (k= xe) YR+ Z=R +(x -xc) +o =)
o ST g2

42|What is the power factor if one of the 0 0.5 Unity Less than 0.5 3 ol Rfad HIY &l &l dicHIeR [aig H 0 0.5 EEaE] 0.5 HH
wattmeter gives negative reading in gfe T areHier BUTHS UIedid ol
two wattmeter method of 3 phase % I OTaR e |1 %’)
power measurement?

43|What is the phase displacement 90° 120° 180° 360° 3 &l THI URUY H HelldR b gidl 90° 120° 180° 270°
between phases in a 3 phase circuit? ?

44|Which condition is called as X, > X Xe > X, X, = Xc R<X, Y YT 1 31ATG RLC HAlche dal X, > Xc Xc > X, X, = Xc R<X,
resonance RLC circuit? \_rlT(ﬂ%?

45|Which quantity is rotating at a Scalar quantity Vector quantity Phasor quantity Algebric quantity Th R TIRHAT] daex JRHTI ThaR JRATUI SIS TIRHTOT

constant angular velocity?

R TWeR JQTRICT H fobd= UiRHATU BT
B 67




